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GUESS PAPER - 2013
CBSE CLASS-XII

SUBJECT: COMPUTER SCIENCE (Theory)


Time Allowed: 3hours








Maximum Marks: 70

Note. 
(i)  All questions are compulsory. 




(ii) Programming Language: C+ +

Question 1. 

a) Encapsulation is one of the major properties of OOP.  How is it implemented in C++? 2
b) Name the header file to be included for the use of the following built in functions:
      1

i) frexp( )


ii) toupper( )

c) Rewrite the following program after removing the syntactical error(s), if any. Underline each correction.









2
#include<iostream.h>

const int Dividor 5;

void main()

{

Number=15;

for ( int Count=1; Count=<5;Count++,Number-=3)

if (Number%Dividor==0)

cout<<Number/Dividor ;

cout<<endl;

else

cout<<Number+Dividor<< endl;

}
d) Find the output of the following program:





2


#include<iostream.h>

struct STOCK

{

int Ino,Qty;

};

void Buy (STOCK &I,int TQ=2)

{

I.Qty+=TQ;

}

void main()

{

STOCK I[2]= {{101,50}, {103, 20}};

Buy ( I [1], 5) ;

cout<< I[1].Ino<<':'<< I[1].Qty<< endl;

Buy (I[0],10);

cout<<I[0].Ino<<':'<<I[0].Qty<<endl;

Buy(I[1]);

cout<<I[1].Ino<< ':' <<I[1].Qty << endl;

}

e) Find the output of the following program:
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#include<iostream.h>

#include<string.h>

#include<ctype.h>

void Change (char Msg[],int Len)

{

for (int Count = 0; Count<Len; Count++)

{

if (islower (Msg[Count]))

Msg[Count]= toupper(Msg[Count]);

else if (isupper(Msg[Count]))

Msg[Count]= tolower(Msg[Count]);

else if (isdigit (Msg[Count]))

Msg[Count]= Msg[Count]+1;

else Msg[Count]= '*';

}

}

void main( )

{

char Message[ ]= "2013 Tests ahead";

int Size = strlen (Message);

Change (Message, Size);

cout << Message<< endl;

for (int C=0, R=Size-1; C<=Size/2; C++, R--)

{

char Temp = Message[C];

Message[C] = Message[R];

Message [R] = Temp;

}

cout<< Message<< endl;

}

f). In the following program, find the correct possible output(s) from the options:
2
#include<stdlib.h>

#include<iostream.h>

void main( )

{

randomize( );

char Area [ ] [10]= {"NORTH", "SOUTH", "EAST", "WEST"};

int ToGo;

for (int I=0; I<3;I++)

{

ToGo = random (2)+1;

cout<< Area[ToGo]<< ':';

}

}
OUTPUTS:

i)    SOUTH: EAST: SOUTH:

ii) NORTH: SOUTH: EAST:

iii) SOUTH: EAST: WEST:


iv) SOUTH: EAST: EAST: 

Question 2.
a) What do you understand by nested class? Give example to justify your answer.
2
b) Answer the questions (i) and (ii) after going through the following class:

2
class Exam

{

int Marks;

char Subject[20];

public :

Exam()

//Function 1
{

Marks=0;

strcpy(Subject,"Computer");

}

Exam(char S[])
// Function 2
{

Marks =0;

strcpy (Subject,S);

}

Exam (int M)
// Function3
{

Marks =M;

strcpy(Subject,"Computer");

}

Exam(char S[], int M)
// Function 4
{

Marks=M;

strcpy(Subject,S);

}

};

(i) Write statement in C++ that would execute Function 3 and Function 4 of class Exam.

(ii) Which feature of object Oriented Programming is demonstrated using Function 1, Function 2, Function 3 and Function 4 in the above class Exam? 
(c) Define a class Restra in C++ with the following description : 



4
Private Members

· FoodCode of type int

· Food of type string

· FType of type string

· Sticker of type string 
· A member function Getsticker() to assign  the following values for sticker as per the given FType: 

	FType
	Sticker

	Vegetarian
	GREEN

	Contains Egg
	YELLOW

	Non-Vegetarian
	RED


Public members
· A function GetFood() to allow user to enter values for FoodCode, Food, FType and call function GetSticker() to assign Sticker.

· A function ShowFood() to view the content of all the data members. 
d) Answer the questions (i) to (iv) based on the following:


4
class PUBLISHER

{

char Pub[12];

double Turnover;

protected:

void Register();

public:

PUBLISHER();

void Enter();

void Display();

};

class BRANCH

{

char CITY[20];

protected :

float Employees;

public:

BRANCH();

void Haveit ();

void Giveit ();

};

class AUTHOR: private BRANCH, public PUBLISHER

{

int Acode;

char Aname[20];

float Amount;

public:

AUTHOR( );

void start( );

void show( );

};

(i) Write the names of data members, which are accessible from objects belonging to class AUTHOR.

(ii) Write the names of all the member functions which are accessible from objects belonging to the BRANCH.

(iii) Write the name of all the members which are accessible from member functions of class AUTHOR.

(iv) How many bytes will be required by an object belonging to the AUTHOR?

Question. 3. 

a) Write function TRANSFER (int A[ ], int B[ ], int Size) in C++  to create the  elements of array B[ ] with the help of corresponding elements of array A[ ] i.e.  If A[N] is positive number B[N] should be 1, and if A[N] is negative number B[N] should be -1, and if A[N] is zero B[N] should also be 0.


2
  
For example: 

If the content of array A is 

-98, 56, 0, -23, -34, 54

The content of array B should become 

-1, 1, 0, -1, -1, 1 
b) An array S[10][30]is stored in the memory along the column with each of the elements occupying 2 bytes. Find out the memory location of S[5][10], if the element S[2][15] is stored at the location 8200.
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c)  Write a function in C++ to perform insert operation in a static circular Queue containing players information (represented with the help of an array of structure PLAYER).
3
struct PLAYER

{

long PID;

char Pname[20];

};

d) Write a function in C++ to find sum of each row for a two dimensional integer array having 3 rows and 4 columns which is passed as parameter of the function.
2
e)  Evaluate the following postfix notation of expression showing the stack contents for each step of evaluation: 







2
True, False, AND, True, True, NOT, OR, AND 
f) Convert the following infix expression to its equivalent postfix expression showing stack contents for the conversion:







2
X – Y / (Z + U) * V
Question. 4.  

a) Observe the program segment given below carefully and answer the questions that follow:  fill the blanks marked as Statement 1 and Statement 2 using seekg( ) and tellg( ) functions for performing  the required task.
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#include<fstream.h>

#include<fstream.h>

class Employee

{

int Eno; char Ename[20];

public:

void Input( ) { cin>> Eno;

cin.getline(Ename,20);}

void display()

{

cout << Eno<< "#" << Ename<< endl ;

}

};

int countrec( )

{

fstream File;

Employee E;

File.open("EMP.Dat", ios::binary|ios::in );

______________   // Statement 1

int Bytes =___________ // Statement 2

int Count = Bytes/ sizeof (Employee);

File.close ( );

}
(i) Write statement 1 to position the file pointer to the end of the file.

(ii) Write statement 2 to return the number of bytes from the beginning of the file to the current position of the file pointer.
b) Assuming that a text file names TEXT1.TXT already contains some text written into it, write a function names vowelwords(), that reads  the file TEXT1.TXT and creates a new file named TEXT2.TXT, which shall contain only those words from the file TEXT1.TXT which don’t  start with an uppercase vowel (i.e. with ‘A’, ‘E’, ‘I’, ‘O’, ‘U’) .

2

for example, if the file TEXT1.TXT contains 
Carry Umbrella and Overcoat When if Rains

Then the file TEXT2.TXT shall contain

Carry When it Rains    
c)  Following is the structure of each record in a data file named ‘PRODUCT.DAT’.  3
struct PRODUCT

{
char Product_Code[10];

char Product_Description[10];

int Stock;

};

Write a function in C++ to update the file with a new value of stock. The stock and the Product_Code, whose stock to be updated, are read during the execution of the program. 
Question. 5. 
a) What do you understand by selection and projection operations in relational algebra?
2
b) Consider the following tables. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii).






(4+2)=6
Table:SENDER

	SenderID
	SenderName
	SenderAddress
	SenderCity

	ND01
	R Jain
	2, ABC Appts
	New Delhi

	MU02
	H Sinha
	12, Newtown
	Mumbai

	MU15
	S Jha
	27/A, Park Street
	Mumbai

	ND50
	T Prasad
	122-K,SDA
	New Delhi







Table:RECIPIENT

	RecID
	SenderID
	RecName
	RecAddress
	RecCity

	KO05
	ND01
	R Bajpayee
	5, Central Avenue
	Kolkata

	ND08
	MU02
	S Mahajan
	116, A Vihar
	New Delhi

	MU19
	ND01
	H Singh
	2A, Andheri East
	Mumbai

	MU32
	MU15
	PK Swamy
	B5, CS terminus
	Mumbai

	MU48
	ND50
	S Tripathi
	13, B1D, Mayur Vihar
	New Delhi


(i) To display the names of all senders from Mumbai.
(ii) To display the RecID, SenderName, Sender Address, RecName, RecAddress for every Recipient.

(iii) To display Recipient details in ascending order of RecName.

(iv) To display number of Recipients from  each city

(v) SELECT DISTINCT SenderCity FROM Sender;

(vi) Select A.SenderName, B.RecName

FROM Sender A, Recipient B

WHERE A.SenderID=B.SenderID and B.RecCity= ‘Mumbai’;

(vii) SELECT RecName, RecAddress FROM Recipient  WHERE RecCity NOT 
IN(‘Mumbai’, ‘Kolkata’);

(viii) SELECT RecId, RecName,  FROM Recipient WHERE SenderID= ‘MU02’ OR SenderID= ‘ND50’;

Question. 6. 

a) State and prove the De-Morgan’s Theorem (Any One) algebraically.

2
b) Draw a Logical Circuit Diagram for the following Boolean Expression:
2
A.(B+C’)

 c)  Write the Product of Sum form of the function G (U, V, W), Truth table representation of G is as follows:  









1
	U
	V
	W
	G

	0
	0
	0
	1

	0
	0
	1
	1

	0
	1
	0
	0

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	1

	1
	1
	0
	0

	1
	1
	1
	0


d) Obtain a simplified from for a Boolean expression:



3
       F (U, V, W, Z) = II (0, 1, 3, 5, 6, 7, 10, 14, 15)

Question. 7. 
a) What do you mean by IP address?  


  
1
b) Write the Full form of 





1

i) MAN 
ii) CDMA

c)  What is the significance of Cyber law? 



1
d) Name two open source software along with their applications.
1
e) What is WEB 3.0?






1

f) Anuradha is a web developer. She has designed a login form to input the login id and password of the user. She has to write a script to check whether the login id and the corresponding password as entered by the user are correct or not. What kind of script from the following will be most suitable for doing the same? 

1
(i) JSP

(ii) Client Side Script 

(iii) VB Script  
g) Great studies University is setting up its Academic schools at Sunder Nagar and planning to set up a network. The university has 3 academic schools and one administration center as shown in the diagram below: 




4

[image: image1]
 Centre to Centre distances between various buildings is as follows:-
	Law  School to Business School
	60m

	 Law school to Technology School
	90m

	 Law school to Admin Center
	115m

	Business School to Technology School
	40m

	Business School to Admin Center
	45m

	Technology School to Admin Center 
	25m


 Numbers of Computers in each of he Schools/ Center is as follows:-
	Law School
	25

	 Technology School
	50

	Admin Center
	125

	Business School
	35


(i) Suggest the most suitable place (i.e. Schools/ Center) to install the server of this university with a suitable reason.
(ii) Suggest an ideal layout for connecting these schools/ center for a wired connectivity.

(iii) Which device you will suggest to be placed/ installed in each of these schools/ Center to efficiently connect all the computers within these Schools/ Center?

(iv) The university is planning to connect its admission office in the closest big city, which is more than 350km form the university. Which type of network out of LAN, MAN or WAN will be formed? Justify your answer.  

Admin Center





Law School





Technology School 





Business Schools








www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.aipmtguess.com | www.aieeeguess.com | www.niosguess.com | www.iitguess.com

[image: image2.png]